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Note: You have four cholces for each objective type question as A, B, C and D. The choice -qf.:d’f/:.eulr
which you think Is correct, fill that bubble In front of that question number, on bubble sheet, Use marker-or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark In that quesflon. No credit will he
awarded In case BUBBLES are not filled. Do not solve questions on thls sheet of OBJECT!V_E PAPER.

Q.No.1 ‘ | A A
(1). The number of forces that can be added by head to tail rule are: - CFLl] (‘}W’ulﬁ&}géd;z"ﬁiéf (1)
A 2 . (B) 3 (©) 4 (D) Any number ,wu‘f&f
(2) The ’nur‘nber of ‘perpendicular components of a force are: -q..f}mlﬁJ Jf‘;;rd;rféf‘*ﬁoj (2)
Tm @2 (©) 3 < 4
3) {Th‘e‘orbital speed of a low orbit satellite is: ‘ : ' _?JM%;JL/LE/JJ U&"L.:«:ﬂglﬁ (3
(A) Zero (B) 8ms™1 (C) 800me™" (D) 8000ms-1 |
(4) Thé KEofa body of mass 2K is 25J. Its speed Is: -Jn%(JJ! -4 25J d)i_@JKJﬁ.gLﬂff 2 (4.
(A) 5ms™t (B) 12.5ms™" (C) 25ms™! - (D) 50ms™"
(5) Which of the substance is the lightest one? : ’ ?4.&::../ (;ba;)é,wuf (5).
(A) Copper 46’ (B) Mercury d/? (C) Aluminum ("33},! (D) Lead
(6) According to Hooke's law: ALyl (8) ’
-, (A) Stress.x Strain = Constant 2 x ¢ » = Lot B) SUOS8 | ongtant L L Lty
Strain JgF _ o
(c) Strain _ Constant %Z& - auty - (D)Stress = Strain . ¢/ & = (22
Stress VA
(7) ‘Water freezes at: ' -ty Z:/;'}J’ UQ (7
| (A). 0OF (B) 320F (€) -273K D) oK "
(8) In gases, heat is mainly transferred by: ' b2 BT (8)
' (A) Molecular collision 51/, (B) Conduction ¢*%”  (C) Convection ¢4 (D) Radiation #154.
(9) The number of base units in S.1 are: ,_4_)1,‘57‘,(&264&;: SI (9
R ®) 6 ©7 D) o -

(10)- A student claimed the diameter w&”fmﬁ_wg YR 1,032 /-:ymméjﬁﬂa.fquug (10y

ofa Wire as 1.032cm using Vernier Callipers. Upto what extent do you agree with?

(A) 1.03 cm (B) 1.0 em (©) 1cm (D) 1.032 cm ]
(11) A changs in position is called: ; -4.811«&1;}.’&5}{ (11),

-(A) Speed Lr (B) Velocity Cf Us (93} Displacehent M‘l‘u'} (D) Distance .Msv '
(12) . Which of the following is the unit of momentum? : -;...‘z‘{’(f‘yf‘:_(jfdjgjﬂ (12)
| (A) Nm Ko (B) Ns (C) Kgms2 (D) Ns™"
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NOTE: erte same question number _g@,;uﬁ;_/,ﬁy,f?é Z//)/‘/;]J:!/UVU?:/G Kdli s
‘ and its part number on answer book, as given in the question paper. :

SECTION-l il

2. Attempt any five parts. 10=2x5 -éljh.,rw:urécc,df 24w
() Whatis meant by significant figures of a measurement? - ui)v» g ;l/'bfc_urmf lu"u’k (,/ 0]
‘Write two examples.
(i) - - Def ne: p’ositive and negative zero error of a screw gauge. , -ZfJ/U e :/);’G sl r‘u’/J (f;‘/a (i)
(iiiy What is the: dlfference between base quantities and derived quantities? a.u/bfu” uuw,yu,tuuwwu (i) .

(V) Define mdependent variable and dependent variable -c{w/rfuuw/"‘db;luuwﬁ“;uu.m:f }uf.;ff (V)
" with respect to graph.

" (v) . Define Speed and Velocity. », “ ' z:_»/"J Gls ol by ()
(vi) . Define Weight and Mass, ’ -é.,ﬂ/‘rf Jb sl s (vi)”
(vii)  What would be happened if all friction suddenly disappeared? . "G”nl/ *z_bn(’..f wu’;(,,(f} (vl
(viiy . Whatis meant by Atwood machine? ( . 2 /LC:, u" Sl © (viil)
3. Attempt any five parts. 10=2x8 ' -é//u“j’&’]'élvc'—d}( -3/Uir
()  Define equilibrium and also give an example. - oLy f._.d/‘Jr' ISk (i
(ii) il How can a force be resolved into its perpendicular components? ?a.kj:w(}’bz)’u/ ¥- u’%{)’»’&ﬂfu’/irf’ (i)}
(iy iple with the help of an example. ‘ J/JJ:.».JJ& iy
™ es of artificial satellite. v ' - VUWI»‘CV P i)
W Oh'what factors does depend the orbital speed of a satellite? q..dn,i}u:,gd SV I U"u/ (v) g
(vi) - State the Law of Gravitation. , W AT
(vily * What do’ you know about solar cells and solar panel? U Tt AL S K (vii)

(viif) - Why. do we need energy? ?e_.dnu/ u/’/’d/(j AU (viil)
4. Attempt any five parts. 10=2x5 -y ) f;Lr;fCLc,df 4y
() Defi ine: Pressure and write its S.[ unit. v . Y S Kuwéw/& el ()
(i) ,Def ne Denslty and write its S.1 unit. : 4{/;' S Ku'mlz:.»/’rf u’" 5 (i)
i) “State Pascal's law. ‘ é: kA6 KJ(’ (iiiy -
?(lv) : Change 300K on Kelvin Scale into Celsius scale of temperature Z: Jyutr}:cu"v f / 300 K /r}*cu),.f b (iv)
‘(v)  :Define Heat Capacity. Ty u"&’dﬂ} )
(vi) . Define Conduction. ' : cf:..«/ /‘d/uj ,«f (vi)
(vii) ' ‘Differentiate between Land and Sea breeze. -,_/fu/ul/u[,df (" »l S 'fﬁ {vii)
Fqvii) Wh*'at is meant by Convection Currents? fe ol )
FREE A SECTION-Il (5.0
NOTE Attempt any two questlons 18=9x2 -éf/uwl.uulyuc,d/ -w!’
5.(A)  Derive the second equatlon of motion wrth thehelp = 1,3 -iﬂ'v"VU/’)JHO&-M-JJ’fK by (LI).5
“of speed-tnme«graph
5 an.J,/Jw;o‘Q.&.uL_,)J/,uum,wﬂré 2ms2 S/ e 20N u»WJ ()

B " A body has weight 20N. How much force is requrred to move it vertically upward with
- -an acceleration of 2ms

8. (A) Def ine Kinetic Energy. .Derive its equation. 4 U /»IVI;L«-JUI u"d._d/'JJ /iu@dK (J')-G

(B) eermg .of a car has 5 «J)F'JL"J EUUL_MUgc._J( L 50N -¢ 16cm (& lJKJGJ/LJKJ{ .(H'>

;s‘ 16cm. Find the torque produced by a couple of 50N. ;i
. 1k 4 P=pgh imu,»m’uwé,»u,d’//u‘uur (T
7.(A): Exp|am pressure in iquids and derive its formula. P =pgh y

oy : JM:IL,M djwtrﬂuémﬁzfr}w 400C ikt _gazrin1.2m3 £ 159C Uie gl (&)
(B) A ba!loon contains 1.2 mS air at 15°C. Find its volume.at 40°C-1 5 -¢-367x 10% " =f

3,1 '
k™.

Thermal co-eﬂ' cient of volume expansion of air is 3.67x10
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Note: You have four choices for each objective type question as A, B, C and D. The choice -q}f,-._}'y}owx
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles wili result in zero.mark in that question. No credit va be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER,

QNo.1 | A Ay
(1) In solids, heat is transferred by: -q—JJ/’{c«JVJU"’U—'rb?U:"‘ "'(1')
(A) Radiation c/?id,,ﬁ,/ " (B) Convection u:ff (C) Conduction uy yig (D) Absorption gf‘v'ﬂ'/.l ‘

(2) Metals are good conductors of heat due to the: e K B L M )

"(A) Free electrons 291,157 » (B) Big size of their molecﬁles AR L o ; !
(C) Small size of their molecule * At /ALy (D) Rapid vibrations of their atoms 271y 2 1L
(3)  Which one of the following unit is not a derived unit? i‘q_u.‘."’;:/'g}il..:/’gvufauiw (3
(A) Pascal J’g (B) Kilogramme r!/)’ (C) Newt‘on o (D) Watt & ’
(4) “The number of base units In S| are: ' _‘gzlﬂﬁfqﬁ'{d;yﬁuﬁ S (4)
Ca)a ®) 6 ©) 7 (D) 9
(5) Which of the following is a vector quantity? Vq_;ﬂwuufc_mj,;.?w (ﬁ)
(A) Speed pas (B) Distance i (C) Power iy (D) Displacement .wf-'e 3
(6) Inertia depends upon in which of the following? ‘.‘:‘,_a,/:uf'% Gl Ja S spusce (6)
e (A) Force (9 (B) Net force (uie?r  (C) Mass UL (D) Velocity (§s ’

(7) A mechanic tightens the nut -l e f ?;.bfc;_rﬂgc.u&':.& 15cm S8 3§ 200N _EE g (7).

of a bicycle using a 15¢cm long spanner by exerting a force of 20bN. Find the torqde that has tightened it.

¢ (A) 3000Nm (B) 300Nm (C) 30Nm . (D) 300Nm?2
(8) The number of forces that can be added by head to taif rule are: ~Un -4_135@;')'0’-(1_‘?“-’)!»7&/‘54_(),4)5){4 (8
; X(A) 2 | ' (B) 3 ~(C) 4 - ‘ (D) Any number )LJJ/
(©) Valué of "g" increases with the: : e Fuedd g (9) -
' (A) lncreva'sev in mass of the body c_'d.‘/.JW,K (B) Increase in altitude e ik
(C) Decrease in altitude c..é.nﬂjx& (D) None of these ut'ﬁfc_u:ul
(10) In Einstein's mass-energy equation, "C" is the: _ ,?b/;;lb' "e u.“..-,b(/u’.jl-uLJJl'/ch (1(2)
(A) Speed of sound {317 (B) Speed of light 4+
(C) Speed of electron ,QgJu,/-?! (D) Spegd of sarth &:Jui)
(11) What should be the approximate length of a glass tube E‘é,gg"}xﬂ}ul(jt_,l&,i J&%’.LL&#&,@KJ& (11)
to construct a water barometér? v »
(A) 0.5m - (B) m (C) 2.5m (D) 11m
© (12)  Water freezes at: - tbudeg ALY (12)

(A) 0°F . (B) 32°F (C) -273K (D) 0K
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~ and lts; 'part number on answer book, as glven in the question paper.
: SECTIONY (il

- 2. Attempt any flve parts 106=2x5
0% : .erte esttmate one day in seconds,

U] What Is’ meant by Vernier Constant?
() . Piék out the base unit in the follawing:
= Watt Newton &« Metre A

(iv) v D fihe Clrcular Motion,
v) o _ erentlate between Distance and Dtsplacement
{vi) - What Is-meant by Uniform Acceleration?
. (yﬂ) leferenttate between Mass and Weight.
(viiiy * Define Momentum
3. ‘Attempt any five parts.
0)] Define Rigid body and Axis of rotation,
"v(ii)' - Define Second Condition of Eduitibriurn.
(iit) - Deﬂne Grav:tationat field strength.
S(ivy ! »'Whai is the value of mass of earth?
, erte the formula to determme the mass of earth.
v) Deﬂne Satelhte and write its example. ‘
- i) 'How does energy produce by burning fossil fuels?
(vii) - Define Blemass Energy. .
(viti) “Define an ldeal system? Why is it not possrble practically?
4, Attempt any five parts. 10=2x5
(i) . .Whatis meant by Atmospheric pressure?
(i) Define. Elasticlty and give an example
(i) "Stram J"as no.unit. Explain.
(iv)~ ’Deflne Iatent heat of vaporization.
v ‘What is meant by Internal Energy of a body?
(Vi) - 'tWhat is: Greenhouse effect? -
(i) ’How does heat reach us from Sun?

10=22x§

(vil)  Wirite:any two uses of Convectton current.

SECTIONli (100

‘ Arhp'ere ‘ ﬁ-’fl

- Eferlimbye 8 200
E L fR I Wik iy E
Sl e S Gy
Iy e, u:m?w (i)
«Mole Jr ,
Ay 1 )
E O er Ll oo 0 i ()
S e Ky )
-& 8’ BOM i b UV (vil)
,;ft_dﬂ(,((“? (viily~
~Efe el ni e O 34
~EBAS u"’ugT/;t s S3des . )
-Ew s mdtisk @
-FASWS S iy
Anbbz./?kutw‘/ ?c,bfutb’u‘/ -~ (iv)

-EedUtaE s e )
i‘q_&nl«d/tf)k:.d'_ﬂ'ﬂ)}w} - {vi)
g‘;fJ/’Jd/Ut.gL o (vii

)
vvnu“u;/u"("w,ﬁ&’ ~EWABE - i)

Fofeln L 3 Ry

. ?ﬁz.ﬂ/gc.,ﬁ{b{/fu&' "' (M K
-l ASF @)

e by Sy 2" G

FES s v

Tl Ve IS )

e el i

94_0"/ C./.\-(/"(_(/J}’Vll] Aviiy-

guvwl):cd:(&w/u'{/ (Vtﬂ') ‘

NOTE Attempt any two questions.

5.(A) - Derive Fi irst Equatton of Motion by using Speed-time graph.
{(B)  Find the acceleration produced by - 5
© dforce of 100N in a mass of 50kg.

8= 9x2

..g{{/:.« WEL e iy Jf -w)’ i

4 Zf»h.«bl/(kt{..«'//cz_ut!uuﬁﬂg (.5 :'f;
vJé./,t;t/)fgm’w;J 100N JK)JLU’V’// 50 ()

6.(A) ‘Deﬂna equilibrium and expiain its first condition of equtltbnum 1 3 -é@b)\(b/w JJU;IJSJ/U “ /d;.r I (.6

122

-SSR Lt 10s ..Ct,md,ft! 16m S0, 70kg ogli ()

(B) . Calmlate the power of a pump which can lift 70kg of water throug‘1 a vertical height of 16 metres

in-10 seconds. Also fmd the power in horse power.
7.(A) Explain the worklng process of hydrauhc press ' 4

..éa—?b;t,() L d_/?‘b/[.f/sju) (-.JW)-

5 katinF Sl £ £ 85°C = 10°C £ 0.5 (L)

®) ¥

How much heat is required to increase the temperature of 0. 5kg of water from- 10°C 1o 6500?
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